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EDUCATION

( Honours Core )
Paper : EDU-HC-4026
{ Educational Statistics )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate Jull marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :
1x7=T7

e <@ o epE T =

fa) “The science of statistics is essentially a
branch of applied mathematics and can
be regarded as a mathematics applied to
observation data.” Who said this?

“dfera Rem e werdtesm aote
et o 10 W e fRifee wwE cvae

G T e 9f Rz afag o w1
FANA @ tafea 9
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(2) (3]
v/ Four divisions resulting from  the () The value of perfect negative correlation
intersection of X and Y axes are called is .
I ( Fill in the blank )
( Fill in the blank ) ool WTAR TP T [4-14 R
X W% Y TSROy oA 3RT I T (@ 3 AT T )
5z (7 = NOE I T ) :
{a) Approximately what pereen tage of area o
(w8 o @) normal probability curve falls within the
limits of +2 standard deviation unit from
fc) Freguencies are plotted above the the mean?
g wfEE ABA cmre TROW 12

midpoints of the class intervals in case of
drawing a frequency polygon.
{ Write True or False '
_ l e & oA ?
TAAAEL FTEW L0 WA OSTT =9 WA '
TP AT TATAAEDET TR 24 5T |
( %=1 = @z fam )

siandard deviation €31 T[T AW faT=

2. Answer the following questions : 2x4=8

T oY TE T
{d] Write the formula for median of L fal Write the names of any two types of class
.e:"q interval

ungrouped scores, when N is even. A
N TE TE cma wawe, wEfEe afm S > et waea i caTen 1 @A A 'ﬁ:‘@\
Q\ @

s oo
= RN (b) Write any two uscs of range.

fe) The midpoint of the distance between
25th percentile and 75th percentile is
known as ¥

"

-

e 7 e o s e %
Manju secured 7th rank in her class of

140 students, in an achievement test.

Find out her percentile rank.

£B) 3o uSmre agre MG w3 1405
firmy feeqe 73 ©% = w0 341

{ Fill in the blank |
2523 "o fey w# 7509w fava wee
™ "’-’ﬁ'iﬁ e Ef;" AW |
(=7 3% oA F ) e W e 24
AZajese ( Contired ) A23/856 ( Tum Over )



( 4)

{d) A distribution is given with a mean ol 45
and standard deviation af 5. Convert the
Z score of the value 0-30 into a raw score.

AT o e wF 45 e we [t 5,
(3 Rzwa wwe Wiz TR 030 WA Z
eneTRR FUAT A BE T

3. Answer any three of the fellowing questions :
5x3=15
@t sy R @ R Ter v

fa) Calculate combined mean from the
llowing table comprising information of

@‘;’Q test in English of different sections of

“ class V1 in a school :

3 ot
»(--\ &4 frreTa =B fRfer v T YaArd)
R o7 oA T TER wiEeryEe fan =
3 TG A FYT F SRS

Section No. of Students  Mean

"y feres 8 s vl
A 20 50
B 20 45
[ 15 40
D 30 45
{b) Write about the drawing procedure of a
histogram.
wefig «bA wea wEfy smurd fe
A23/856 { Continued )

(5)

fc) Write a short note on correlation and

coeflicient of correlation.

3+2=5

TR WE FIIE GNW WA LB 51 G

form |

—

(dj Calculate average deviation from the

following set of scores :

wara e =TT o arp fapfe ez .
-
25, 45, 15, 16, 84

fe) Write five merits of standard deviation,
o fagifer <t R fee

4. (a) Find the value of mean [rom the lollowing

frequency distribution table : 10
wrz TAEAE] [furee wfEare v@ o TR
G

A23/856

Class Interval
=
55-59
50-54
4549
40-44
35-39
30-34

Frequency
TR

( Tum Over )



(6)
Class interval Frequency
o8 S AT

25-29 8
20-24 4
15-19 2
10-14 1
N =50

Or / 9%

(b} Find the value of median from the table
given in Q. No. 4. {a)
um W 4, (o) frn SRR A IEER TH
e '
Calculate quartile deviation from the
following table :
T wfemrs o v Ry Saea
Class Interval  Frequency
et W X
70-T4 5
65-69 7
60-64 8
55-59 4
6
4
6

5. (a)

50-54
45-49
40-44

/856 { Continued )

(b)

6. (a)

(7))

Or / 391

Draw a cumulative percentage frequency
curve or ogive from the table given in
Q. No. 5. fa) and find out F,; and Py

from the graph. 6+(2+2)=10

o= 9% 5. fa)© 1 wfeeee e wwt e
FEAME] (P G0 TR I WE @R o[

Py T Py 19 Bfde

Find out the product moment correlation
of coefficient from the following two sects

of scores :
were fan o= ghie o g T R
Wy g By

10

mdivduatl A | 8| c| Dl E| Fl G

aﬁ ——

Test X |35(39|40|32|31 40|28

Test Y |69 |72|71|60|73|74 /64| _

() In a normal distribution, mean 1s 50, SD

A23—-7000/856

Or / =93]

is 5. What percentage of cases lie
between two scores 40 and 607
095 I fTrsraa 5 50 wE = fapfe 5
I, O g9 YNSE 40 WE 604 TWE
faramer wrar a1 anfdq 2 g \
(33,
= VW
Yo
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